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Full Marks : 50
Pass Marks : 15

Time : 2 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each : 1x5= 5
Q. No. 2 carries 1 mark each ! 1x5= 5
Q. No. 3 carries 1 mark each : 1x4 = 4
Q. No. 4 carries 3 marks each - 3x3= 9
Q. No. 5 carries 4 marks each i 4x3 =12
Q. No. 6 carries 5 marks each : 5x3 =15

Total = 50
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1. Choose the correct anawer from the following (any five) -

R4 ﬂ'f"'”)woﬁ 4] "ﬂ;@qf,f,] e i uql (1 17401 '4}'[1;'?;‘[/ .

(@) Which ‘shortcut key’ will you use to start the spell
checker?
W A (spell checker) iy afaatn ofa comis o 7
44 +{441 7
) F5 (i) F1
(i) K7 (iv) F9

(b) Which of the following is a default file extension for
a LibreOffice Writer file?

Caq (FFICH @9 LibreOffice Writer w4« aia fo% #%7

GHCG1%e]
(i) .ods (ii) .doc

(iii) .txt m// .odt

(¢) In the voice process, which is the kind of job that
a representative cannot do?

Voice zf&me zfefifacn #faa e #m @ri6! ?
(i) Accepting orders
TIC* 220 94l

(ii) Customer service
a1z a1

/iii) Keeping data of employee records
FA5AE (AP O 941

(iv) Credit and collection
(TFICH HF a2
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(d) Bela is in a non-voice process. Which is the skill she
need not be good at?

@3 ’-T36 AfFe 5P FCA | (FECO THFOS ©i2 TE (ZEMA
2SI (3 9

() Typing skill
BiEfor wp)

(i) Writing skill
IGNIERY)

(iii) Reading skill
019 TS

(iv) Speaking skill
Y (PHEE TF9]

(¢) Which of the following is the main objective of
sustainable development?

©eTS Wl (PO 2Ty KR 47 Soaeey 2

(i) Reducing poverty
RS ZFT

(i) Promoting green agriculture

CTEERT FRT 246 F91

(i) Preventing ecological damage

AR e afecmy

(iv) Achieving a balance between economic,
environmental and social needs

AT, T W Tl easReR W SEew 9
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(/) Which of the following is an example of non-verbal
communication?

TeTS R (@FCH SR G Trrzge 2

(i) N ewspaper
MR -FIFe

(i) SMS
9qb. 9y, b,

(i) Expression

S

(iv) Note
15

(g9) Which of the following is a characteristic of a confused
customer?

oS il (FICh Rars ares o o

() Has a specific need

qb1 FfWe eraredirer s

() Shows little interest in buying
T IS 2D 2

(tir) Is not curious about the features of the product
or service

AR Resmeeas Rva @ged w=

(tv) Does not ask any question about the product

STRANCER Ry @ 2 Py
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2. State whether the following statements are True or False

(any five) :

1x5=5

TS 1 AT (7 SR (R e #fby) -

(a)

(b)

(c)

@)

(9)
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Safety signs can prevent accidents.

IR oA yibe @y g o |

IT industry can be broadly classified into five sectors.

Wﬁ%ﬁwwm%ﬁnwwwﬁaﬂﬁl

After finishing a call, the CRM should complete the
documentation process.

B I oW T Pree B, w1, @, o Ao eiferm e Bl
=S |

In a trading business, an entrepreneur manufactures
the product.

@%%Wamwmvfm%ﬁmmi

What, Why, Who, How, When and Where are used
to form closed-ended questions.

What, Why, Who, How, When ¥ Where

IR IR
closed-ended 2y 91 1} | '

The Find and Replace commands are contained in the
File menu.

Find WI¥ Replace 1oz File (s wo$s 91 {20x |

Making a to-do-list can help manage time better.
By R IR ST SRR Ao e s 9 o |
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3. Write the full forms of the following (any four) : 1x4=4
wotw AR T Feich! feryr (R e wif<dr) -

(a) TAT

(b) TCS

(c/ BPM

(d) CAD

(e} ACW

() SLA

4. Write short notes on the following (any three) : 3x3=9
S TP eore 53 G forn (R coean RofRe)

(a) Service level agreement
O B9 pfe

(b) Intelligent call routing
heiTE 9 o]

(c) Verbal communication
R e

(d) Automatic call distribution
T 91 feq

(e) Networking skill
TBaRE Tl
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5. Distinguish between the following (any three) : 4x3=12
o7 fRPTES Wrers 1@ for (R e ffe) -

(@) Up-selling and Cross-selling

SPICfIR W TFResfog

(b) Information call and Hard call
TAFCAH 39 W G 9

(c) Accident and Hazard
7o S e

(d) Inbound call centre and Outbound call centre
TRICY 1 (5B HF WTHBY 39 (5B

(e) Entrepreneur and Employee
TN A AR

6. Answer the following questions (any three) : 5x3=15

TS il ercams Ts o (R oo Fofia)

(a) Define the meaning of a business idea. What are the
three principles of idea creation?
TPTRE 4R It B e 2 reenfis aaen foe fofiier S & 2

(b) What is the purpose of tracking changes in LibreOffice
Writer? Write the steps to start and stop tracking
changes in LibreOffice Writer.
LibreOffice Writers «Raémiz wpRa =@ Sy B9
LibreOffice Writers «Rq$miz wpra w1 wme we <
(4= “memepTyR e |
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() What do you mean by Customer Relationship
Management (CRM)? Write the roles and respon-
sibilities of a CRM domestic voice representative.
- AEeE IFE e B A qn ke %
afffRa gt s fgcare R e |

g

(d) What do you understand by Business Process
Outsourcing (BPO)? Explain the various outsourcing
jobs in India.

freceTe, 245 STHE e el 6 go 2 wed Rfew wiThe’fr vrafe
Ry e =41 |

* & %
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